Lesson Filfteen
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Verb "to have"
The verb Have is formed by the stem owon ("there is") and the conjugated object
pronoun:

ovoN — to have

ovoNNTHI - | have wwonNNTHI - | don't have
0vONNTAK - you have WMONNTAK - you don't have
0%ONNTE - you have VYONNTE - you don't have
ovoNNTag - he has wuonNNTag - he doesn't have
ovoNNTaCc - She has wwoNNTac - she doesn't have
ovONNTAN - We have wuoNNTAN - Wwe don't have
ovoNNw<TeN - You have (pl) vuoNNwTeN - Yyou don't have (pl)
ovonNNTow - they have wmoNNTov - they don't have

In speaking they are contracted:
OwvonTHl I ovonTak ...

The past of HAVE is formed with the particle ne
Ne ovon-THI — | had nNe wuonTHI — | did not have

Translate the following:
3. 0OVONNTHI § NXWW NEW 0¥YK3AW AAAA TMACON WMONTAY.
B. WH OVONNTAK 0%XWW NC3al;
T. W.MONTOVZLANWY 1HooY.

Present Continuous
The present continuous is formed by adding the following prefixes to the verb
stem:

Caxi1 — to speak

eIcax! - | am speaking
EKCAXI - you are speaking
epecaxi - you are speaking
eqcaxl - he is speaking
eccax! - she is speaking
eNcaxI - we are speaking
epeTeNcax! - You are speaking (pl)
evcax! - they are speaking
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